The Schottky analysis has been done considering the following equation.

			           		          

 							          




Where  is the Richardson constant and  is the Schottky barrier height, is the effective electron mass in dielectric and  is the free electron mass.  
The equation above can be rearranged as,

 					         


[bookmark: _GoBack]The SE plot was plotted by designating ln(JPF/T2)  as the Y-axis and as the X-axis, leading to the.
oleObject3.bin

image4.wmf
B

F


oleObject4.bin

image5.wmf
*

m


oleObject5.bin

image6.wmf
0

m


oleObject6.bin

image7.wmf
÷

÷

ø

ö

ç

ç

è

æ

F

÷

÷

ø

ö

ç

ç

è

æ

+

 

-

4

qE

 

kT

q

 

A

ln 

 

=

)

T

J

ln(

B

i

o

ox

*

2

SE

e

pe


oleObject7.bin

image8.wmf
ox

E


oleObject8.bin

image9.wmf
))

 

(q/(4

(q/kT)

i

o

e

pe

=

slope


oleObject9.bin

image1.wmf
ú

ú

û

ù

ê

ê

ë

é

÷

÷

ø

ö

ç

ç

è

æ

-

F

-

=

o

i

ox

B

SE

qE

q

T

A

J

e

pe

4

exp

2

*


oleObject1.bin

image2.wmf
0

3

2

*

120

4

m

m

h

m

qk

A

*

*

=

=

p


oleObject2.bin

image3.wmf
*

A


